

الحل 9 - } c - {

$$\frac{(c+v)v}{c(c+v)} = z$$

$$z = \frac{v}{c+v}$$

$$\therefore x = v - 1 = (p) - 1 = (p) \quad \text{①}$$

$$(c+p)v - (c)v + (p)v = (c+vp)v$$

$$9 = 3 - 7 + 7v =$$

$$\frac{1+v}{c-v} = (v)^{-1} z \quad \text{②}$$

الحل 10 - } c - {

$$z = \frac{1}{1} = \frac{1+v}{c-v} = (v)^{-1} z$$

<http://adz4u-owh2010.blogspot.com.eg/>

$$\frac{(c-v)c}{c(c-v)} \cdot \frac{(c+v)(c-v)}{(c+v)(c-v)} = (v)v$$

$$\frac{(c-v)}{(c-v)c} \times \frac{(c+v)(c-v)}{(c+v)(c-v)} = (v)v$$

الحل 11 - } c - {

$$\frac{c-v}{c} = (v)v$$